28 THSTAT e SHoon wamm oo
a: 8F 7 = SFS 05 GG IE 9K
* 72—
AJOwvY (1, 2a—1h)
1B 5 2HANEEF | STEAVEE | B B E i
1B 15 3—-0 3—1 2-0 TR
— 2 AEAEE
2 WA 0—3 2—3 0—2 S
IBMAF | 1-3 3-2 1—1 =
B7AvY (34, 15-163—F) B
4% = |58 % |6HMATR|7 E W | B B -
— 1E E
D |4 %F = 3—-0 3-0 3-0 3-0 .
2 MEHR
® |5 8 % 0—3 1—3 2—-3 0—3 32 3
® | 6 FAEFR 0—3 3—1 3—2 2—1 4; o
@ |7 2 ¥ 0—3 3—2 2—3 1—2
cJayy (17+-18, 19-203—1}) B
8 XEF |9 = B |02kt (112 % (B & . ;
O sfmﬁ 1—3 3—2 3—1 2—1 > X H R
® |9 = B 3—1 3—1 2—3 2—1 -
® |10 2t 2—3 1—3 3—0 1—2 4% "
@ |11 B 1—3 3—2 0—3 1—2 -
D7Aavy (21-22, 7-8a—Fk)
125 #® 13F R |48 & |15 2B | B B JIE v
@D |12 & #% 3—2 3—0 3—1 3—0 15 #
@ |13 B 2—3 3—0 1—3 1—2 2 B &
® |14 | 0—3 0—3 0—3 0—3 3FE R
@ |15 B & 1—3 3—1 3—0 2—1 4 ¥ R
OHEIEF 3F—L0E 10-@ 20-@ 30-O0
AF—LOE 10-@ @-@® 20-@ @-Q@ 30-@ @—®@
XABDEITKRIZE T, 3B8ETLELLEIEELH D,
KR E—F Ak
[ 3R EE]
(& %) Al — — ClIfL (= 5)
® ©)
(X B B Bo2or — — AD2f (FEFRZAEF) B —
® ® 31
(%ﬁ¢%)%ﬂﬁ-z; @ z;Amﬁ(% /8) (FAAREET) —
(& #®) Difx —— L— Bifi (& =)
* & v
B B | EER 3 i 4
=5 =27 EiE | BEBEEH

]
0

£

ﬁj\



